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library ieee;
use ieee.std logic 1164.all;

entity myand is

port{a, b : in std logic;

: v : out std logic);
end entity;

architecture arch myand of myand is
begin

Y<=a and b;
end architecture;

library ieee;
use ieee.std logic 1164.all;

entity myor is
port(a, b : in std logic;

v : out std logic);
end entity;

architecture arch myor of myor is
begin

Y<=a or b;
end architecture;

library ieee;
use ieee.std logic 1164.all;

entity myor is
port(a, b : in std logic;

v : out std logic);
end entity;

architecture arch myor of myor is
begin

Y<=a or b;
end architecture;
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library ieee;
use ieee.std logic 1164.all;

entity main is
port(x,v¥,s : in std logic;

f : out std logic):;
end entity;

architecture arch main of main is

component myvand is
port(a, b : in std logic;

v : out std logic):
end component;
component myor is
port(a, b : in std logic;

v : out std logic):;
end component;
component mynot is
port(x : in std logic;

v : out std logic):;
end component;

signal sighk, sigB,SigC : std logic:

begin
ul: mynot port map(s, sigh);
ul: myand port map(s, v, sigB);
u2: myand port map(sighk, x, sigC);
u3: myor port map(sigc, sigB, f):
end architecturd;
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library ieee;
use ieee.std logic 1164.all;

entity tarB is

port(Clock, Reset, T : in std logic;
Q : out std logic);

end entity;

architecture arch tarB of tarB is
begin
process (Clock,Reset)
variable tempQ : std logic;
begin
if Reset='0"' then
tempq ='0";
elsif rising edge (Clock) then
if T='1"' then
temp@:= not tempQ;
end if;
end if;
Q<=tempd;
end process;
end architecture;
12T 2000 29257 D8 D7 DN

tempQ

Clock

Reset
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YW PoT YW A9y nwnnn axa npma rising_edge(Clock)

2019 on ,0"ywn 21X Tin —=711003- 'n pxawnni NPINLVRR-N"NWN |N2NY7 NND



o DX NI770n
L 17731 VIXPD XIN DNO X7

akhial @ olalbtieh i (u}

Reset I_
Clock
b

Reset 1715 2312 .(Mp2 219> oy 121%3) 12 779w RS 11-1 10 nw 0ava® 1001 (3
JIWWA POIT 2w DO PN IR 300w Reset Im175 ,°11751°07 51 P1N010K

2019 on ,0"ywn 21X Tin —=711003- 'n pxawnni NPINLVRR-N"NWN |N2NY7 NND



T DX NI'7'700
w 17730 VINPD XN ONO X7

7 aoNw
library ieee;
use ieee.std logic 1164.all;
use ieee.std logic unsigned.all;
entity Q7 is
port(Clock, Reset, UpDown : in std logic;
9] : out 5td_logic_vector(3 downto 0});

end entity;

architecture arch Q7 of Q7 is
begin
process (Clock,Reset)
variable tempQ : std logic vector(3 downto 0);
begin
if Reset='0" then
tempg :="0000";
elsif rising edge(Clock) then
if UpDown='0' then
if tempQ>0 then
tempd:= tempQ-1;
else
tempg:="1001";
end if;
else
if tempQ<% then
temp@:= tempg+l;
else
tempg:="0000";
end if;
end if;
end if;
g<=tempg;
end process;
end architecture;
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library ieee;

use ieee.std logic 1164.all;

entity tark is

port (D : in std logic;

5 : in std logic wvector(l downto 0):
Y : out std logic wvector( 3 downto 0));

end entity:;

architecture arch tarA of tarR is

begin

¥(3) <= D when s="11"
¥(2) <= D when s="10"
¥(1l) <= D when s="01"
Y(0) <= D when s="00"

end architecture;

else
else
else
else

ar;
ar;
ar;
ar;

DUX NN

VINPD XN ONO X7

8 rThuRw
:0°1N12 9P W KD

0 %apn ®1 nank ,D 5w 107w R Papn Y(3) S=3-1 772 :n0%apn mina nyyann 10 a7wa (R

tar A

— 1D Y[3.0] —

— S[1.0] '
inst
S YR Y@ | YD ] Y0)
0 0 0 0 D
1 0 0 D 0
2 0 D 0 0
3 D 0 0 0

(2

G

2019 on ,0"ywn 21X Tin —=711003- 'n pxawnni NPINLVRR-N"NWN |N2NY7 NND



T DX NI'7'700
w’ 17730 VINPD XN ONO X7

(7

122900 NN DT DN

Y [0..3]

Iiu UNU QLU

I AR Wwank 1nM

process (D, S)

variable tempY : std logic vector(3 downto 0);
begin

temp¥ := "0000";

temp¥ (conv_integer (5)) :=D;

Y<= temp¥;
end process;

Kallohs i 7AN ik fala)
use ieee.std logic unsigned.all;
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